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L 4

estion 1
Solve each of the fol

a)

@ L-iaszy=o
(x=3)x-8)=0

(2 +2(x-8) = o

= <;2/

(e ~2)(a+4)=0

SR
<
@) o=l
Asoe-lk=0
(2 +9)a-3l=0

Lt =9
L N
A NGE-9):0

ateil=o
[C= DE-¢)=o
G Cwmm/
&) 22ag 34
e =0
@ +7Na-¥=0
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Question 2

Solve each of the following quadratic equations, by factorization.

a)

b)

c)

d

e)

g)

h)

X2 =2x%24 x=-4,6
x> +8x-10=10 x2-10,2
—x*+11x+26 =0
30-13x—x* =0
40+3x—x> =0
(x43)(x—6)=2-2x x==4,5
(x—2)(x+5)=4x+32 x=-6,7
(4-x)(5-x)=2(x+1) x=2,9
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estion 3

@) (-3 ad) = 26w
= RB-R-2 = Chl
= ales-p=tia
=t -k =0
= G&4)@R)=0

- a=<f/

) @)= o)

= %0~ Tx - 1§ = oolp 228,
=2 Wtz Lrn-8
= aA-x-t=0
= G -Q+ =0

=2 X

© @)= day
= =4y
=atam-g-0
= (@E-WEr2)=o0

=2 :L=<q'
=

(@) Curs)ar) = GueaT)
= Parim-g s AHTarasT
= 2% 97 - 5= THB+T
= f+2-02=0

= G=3)xr§)=o










estion 6

a)

d x*-2

e) x’—6x+6=0

(GRS @) aFex-u-o
S@u3-47=0 = -t =o
= (ai-a11=0 = Geifoi-uee
= ER)2 o = G-)-s5=0
= @) = 2
= >3 =&z a1 = 4T
= o= -3kdT_= _
7 - /
LL,) Z—lxxl=0
a=3xg3

-
= -2l ~2t =0 = G@-3-Fie=o
= @-2y -Axi~e - G¥-1=o
= @2y-3=0 = E-3¥-3-0

n
Z Clj = z.&_‘ = G-z
a2 =

> Tenm

@) P46 =0
~ G&ri=ie=0
= - 1-g=0
= Gl -T=0
= e)=T

= as = =47
- a.:—liﬁ"/

¥










